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State the relationship, then solve for x.

D) . 2) /
10x + 10 s 1207 .
P e e — =
- 1279/1/ "

-0 lh_S\

C,ONB(‘UU\J\' C,onﬂruud‘
x=9 Xx=-7

Find the measure of the indicated arc or angle.

3) msSXW -4 0

"'U \00 ? " - (50

Find the missing length given that the triangles are similar.
3) AGFE~OGML

41

Determine the missing side or angle. Round to the nearest hundredth.
7 4

6 .
N A k= 3,58
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8) A kite with a string 1501t long makes an angle of 45° with the ground. Draw a picture to represent the
situation, then determine the height of the kite in the air.

| N2 H 106,07 £+

Solve the quadratics below. SHOW ALL OF YOUR WORK. Leave as exact answers.
9) 0=x%+15x+56 10)3x? — 3x = 36

%=-7,-% (=4,-3

11)x*—-20x+58=0 12) 3™ = 2 = 120
Y= IO+J—Z_1’ 'IO"J_Z‘\ _'Z,__Q_ -‘b
X= 3,
13)x2 — 16 = 6x - 14)9x2 = 9x+7 =0
x= §,-2 | x= 348 3-i0q
= 9, . 2



Graph the quadratic equations below. Then identify the key features.
15) | ya2x?—dx-1 Vertex: ((l-jl,)
i (2.225,09, (-0, 225,0)
y-int: (O; —(>
Domain: C—DO/ 00)
Range: [ 2,%0)
Increasing: (|100>
Decreasing: (—-00/ I)
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Simplify the given expressions. Your answer should contain only positive exponents.

16) m™In~*- (—n3)"% 17) (x~*y*)° - x*y®
_ Y
T X
mn'

Given f(x) = 5x% — 1, find the average rate of change on the following intervals.
18)[0,3] 19) [=3,1]

_ﬂﬂ_ -0

o
20) Write the equation of a parabola with vertex 21) Write the equation of a parabola with x-
at (3,-2) through the point (-1, 11) intercepts at (-2,0) and (0.0) through the point

(3,-12)

y = J,—;’—(x-’s)z—z_ y= '—;’—x(x’r?—)

22) Identify if the table below represents a linear, quadratic, or exponential function.

: :c 2:& 1,:90 E’)(PONA ‘}\OL\

X 0
b
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23) Find the arc length and scctor area of the specified section below. Give both exact and approximate

answers.
Arc. LeMJrH
J
151
ﬂ %'s km
|, S—
9 %m ‘
1$.85  kem
Find the missing angle.
2 mRTO |
e o
xR 320

Solve the following systems.

2
26) y=x ~2x-6
y=4x+10

(8,42
(-2,L)

Use the two-way table to find the specified probabilities. Let I represent playing an instrument and S represent

25)

27)

Secter Area
27 km?

§U.80 km?

\ 21

y=x-2
x2+y2-36

(5.123, %11%)
(-%123, - 5.11%)

playing a sport. 7

Middle School Music snd Sports Survey

Pixys Toam Docs Not Play Total

_Spog | TeamSport

Wbt .8 3 1

“Does Not Play 2 " 9

Total_ 10 10 20
28)P(SN 1) % = HO% 29PUCNS) o T 0%
30)P(SUD) 3 PSID 8 | 92.7%
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